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Sample Paper – 2007

Class – X

Mathematics

TNo: 
Nq: 25
       MM: 100

Ta: 3.00+15 hrs  
                     Dt.  07.07.06

Tc: Combined-II
SECTION: A

Q1.
Which rational expression should be subtracted from 
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Q2.
Find the sum of  all two digit odd  positive numbers.
Q3.
Solve for x and y: 
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Q4.
Find ‘a’ and ‘b’ so that the polynomials
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 and 
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 may have (x+3)(x+1) as their HCF.
Q5.
Solve for x:  
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Or


A two digit  number is  12 times of difference of the digits and three times  of the product of  the digits.
Q6.
The 8th ad 15th terms of an AP are 5 and 33 respectively, find its 5th term and the nth term.

Or

If first term of an AP is ‘a’ and last term is l then prove that the sum of n terms is n/2(a+l).

Q7.
In the given figure, sides AB and DC of cyclic quadrilateral ABCD are produced to meet E. Sides AD and BC are produced to meet at F. If 
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Q8.
A washing machine is available at Rs. 9600 cash or for Rs. 2100 cash down payment followed by five monthly instalments of Rs. 1545 each. Find the rate of interest charged under the instalment plan.
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Q9.
A person borrowed some money on compound interest and returned in 3 years in equal annual instalments. If the rate of interest is 15% p.a. compounded annually and annual installment is Rs. 486680, find the sum borrowed.
Q10.
In the given figure , if 
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. AB =9cm, AD =7cm, CD =8cm and CE =10cm. Find DE.

SECTION: B
(4 marks each)

Q11.
The denominator  of a fraction exceeds its numerator by 3. If one is added to both numerator and denominator, the difference between the new and the original fraction is 1/24. Find the original fraction.

Q12.
The diameter of internal and external surfaces of a hollow spherical shell are 6cm and 10cm respectively. If it is melted and recast into a solid cylinder of height 
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Q13.
Draw the graph for the equation 2x-y =4, 3y-x =3. Also find the vertices of the triangle  formed by the lines representing  these equation and the x-axes. Shade the triangular region so formed.

Q14.
Prove that 
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OR

Evaluate without using trigonometric table  
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Q15.
Using step deviation method, find the mean of the following frequency distribution: 
	Class
	50-60
	60-70
	70-80
	80-90
	90-100
	100-110
	110-120

	Frequency
	8
	12
	13
	15
	10
	11
	6


Q16.
A person used his monthly salary of Rs. 9000/- in the following  manner: Draw  pie chart

	Item
	Rent
	Food
	Education
	Telephone
	Purchasing
	others
	Saving

	Amount used (Rs.)
	750
	2000
	400
	500
	850
	1500
	Balance amount


Q17.
Find the value of x for which the distance between the points (x, 3) and (-1,5) is 
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Q18.
One vertex of an equilateral triangle is (3, 
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)  and one vertex at origin. Find the co-ordinates of centroid


Or

Find the point which represent three-fourths of the distance from the point (3,2) to the point (-5,6)

Q19.
Draw a triangle with sides 3cm, 4cm and 5 cm. Draw its incircle.

Q20
A card is drawn from a pack of well shuffled cards. Find the probability that the card drawn is  (i) a red queen (ii) face card.

SECTION: C

Q21
Prove that if a chord is drawn through the point of  contact  of a tangent to a circle, then the angles which  this chord make with the given tangent are equal  respectively to the angles  formed corresponding alternate segments.

Use this theorem to prove that the tangent at A to the circumcircle of an isosceles triangle ABC in which AB-AC is parallel to BC.

Q22
Prove that If a line is drawn parallel to one side of a triangle, the other two sides are divided  in the same ratio.

Using the result,  prove the following: In the adjoining figure, if PQRS is a trapezium in which PQ||SR||XY, then 
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Q23
A cylindrical bucket of diameter 28cm and height 12 is full of water. The water is emptied  into a rectangular tub of length 66cm and breadth 28cm. Find the height to which water rises in the tub.

OR


A circus tent is cylindrical to a height of 3m and conical above it. If its base radius is 52.5m and slant height of the conical portion is 53 m,  find the area of the canvas needed to make the tent.

Q24
If the angle of elevation of a cloud from a point h meters above a lake is 
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 and the angle of depression of its reflection in the lake is 
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, prove that the distance of the cloud from the point of observation is 
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OR


A man on a cliff observes a boat at an angle of depression of 
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which is approaching the shore to the point immediately beneath the observer with a uniform speed. Six minutes later, the angle of depression of the boat is found to be 
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. Find the time taken by the boat to reach the shore.
Q25
The total annual salaried income of  Ram Gopal is Rs 12,00,000. He contributes Rs 1,00,000 to his P.F account during the year. Rs 20,000 per month are deducted each  month from his salary for 11 months. Find the tax deducted from his salary in the last  month of the year. 

Rates of Income tax for male persons ( Below 65 years )

	              Taxable Income
	                     Income tax

	( i ) Upto Rs 1 lakh 
	                          Nil

	( ii ) Rs 1 lakh to Rs 1.5 lakh
	10% of income exceeding Rs 1 lakh

	( iii ) Rs 1.5 lakh to Rs 2.5 lakh
	Rs 5000 + 20% of income exceeding s 1.5 lakh

	( iv ) More than Rs 2.5 lakh
	Rs 25000 + 30% of income exceeding Rs 2.5 lakh


Surcharge: For salaried person having taxable income exceeding Rs 10 lakh, a surcharge of 10% is levied on the amount of tax payable. 

Education cess: For every tax payer, an education cess of 2% is levied on the tax payable ( including surcharge, wherever applicable )
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